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Section-B.

two sections — Section-A ang

In Section-A, there are
70 objective type questions, out
of which any 35 questions are
to be answered. If more than
35 gquestions are answered, then

only first 35 will be evaluated. Each

question carries 1 mark. For

answering these darken ‘the circle
with blue /. black ball pen against
the correct option on OMR Answer
Sheet provided to you. Do not use
whitener / liguid / blade / nail
etc. ron OMR Answer Sheet,
otherwise ‘the result will be
treated invalid.

. In Section - B, there are 20 short ,

answer type guestions. Each
carrying 2 marks, out of which
any 10 questions are to pe
answered. Apart from these, there
are 6 long answer type
gquestions, each carrying
§ marks. Out of which any
3 questions are to be answered.

. Use of any electronic appliances is

strictly prohibited.
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x wWuz - o /| SECTION - A

1 W9 / Objective TyP® Questions

mml#?OW%mma%maWWﬁvwﬁ forrd & TF

wﬁé'mm?}’wwﬁ% #Omyﬁzwﬁﬁqa'aﬂ'!ﬁ"%?
Ssmmmh 35’)(1-35

Question Nos. 1 to 70 have four options, out of which only one is correct

You haye to mark Your selected option, on the OMR Sheet. Answer any
35 questions. 35x1=35

(A), Cu | . (B) Au
(C) Al | (D) Fe
Which of the following metals is generally found in free state ?
(A) Cu (B) P Au
(C) Al _(D] Fe

3 ﬁmﬁf@aﬁﬁqwaﬁ‘é? |

(A) gﬁmﬁﬁa%

<..

B H«,ﬂ@ﬁaaﬂﬁ?%

(C)
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[118].
Which of the following 'statements is true ?
(A) All ores are minerals
(B)  All minerals are ores
(C) A mineral cannot bé an ore
(D)  An ore cannot be a mineral
frfRaa argatt 3 freh fremdor § Sua arged %1 I T 2 P
(A) @ (B)
() et (D) wifeH

Electrometallurgical process is used for the extraction of which of

the following metals ?

(A) Iron | - .(B] Lead

(C) Silver (D)  Sodium
R Q) aro-arem o1 IafRr B 2, g I §

(A) TR B) fd

() AR (D) AR

An ore having two different metal atoms is

(A) Haematite | (B) Galena

(C) Magnetite | (D) Copper pyrite -
152 252 2px' 2py' 2pz" Frfifaa # frw a0 1 RIS w2
() e B T

€y T (D) R
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[118]
Which of the following elements has electronic configuration

1s? 2s? szl 2py12p31 ?

(A)  Oxygen (B) Hydrogen
(C) Nitrﬁgen (D) Fluorine
Arerfead ¥ W9 TeeteE T SRS gqHET 19 8 ?
(A)~ e wngs (B). IEEH TS

() m@ﬁ#ﬁg@mwmg (D) SR TTHEES

Which of the follo{ving oxides of nitrogen is calicd laughing gas ?

(A)  Nitric oxide (B) Nitrous oxide

(C) Dinitrogen trioxide (D) Dinitrogen pentoxide
freaferfag 3 frudh ou ol gag afers 8 2 |

(A), 0-0 (B) S-S

(C) Se-Se (D) Te-Te

Which of the following has highest bond energy ?

(A)  0-0 (B) S-S
(C) Se-Se . (D) Te-Te
Ni (CO), H Niﬁaﬁeﬁamaqa@n%

(a0 B) 1

(c) 2 - Dy 4

The oxidation state of Ni in Ni (CO), is

(A O B) 1

c) 2 (D) 4

24 /A/XI1I-5005-(34/40) Page 5 / 32
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10.

11.

[118)

et e & i d R} e sren R o wad ofs @ ?
(A)  [PYNH,) |CI, (B)  [Pt(NH,);Cl |Cl;
(C)  [Pt(NH,),Cl,]cl, (D)  [Pt(NH,),Cl,]Cl

Which of the following has the highest molar clectrlcal conductance

in aqueous solution ?

(A)  [PHNH;)g Cl, (B)  [Pt(NH,).Cl]Cl,
() [Pt(NH,),CL,]Cl, (D)  [PtNH,),Cl, |Cl
K,[Fe(CN), | %T IUPAC 74 &
(A)  IRRE HERETES (B) OrRRrm Hiurse
(C) vifiwm dwwmEmFEE () (D) WRRwm %Wﬁﬁﬁz (111)
The IUPAC name of K,[Fe(CN), ] is
(A)  Potassium ferrocyanide
(B) Potassium ferricyanide
(C) Potassium hexacyanoferrate ()
(D)  Potassium hexacyanoferrate (III)
et B, 3 Tufm A 2
(A) T (B) AWREm
() @ - o) Fee
Vitamin B, contains
(A)  Cobalt (B) Magnesium
€ Iron (D) Nickel

24 /A/XII—5005-1341401 Page 6 / 32



12.

13.

. [118]
INi(C,0,),]"" & Ni ) a9 et

(A 3 B) 6

) 4 D}y S

The coordination number of Ni in [Ni(C,0,), I*~is

A 3 B) 6
c 4 | (D) 5
CH, |

c:Hs—(J:H— CH,— cﬁ2c1 %1 IUPAC 917 &
@A) 1-FE-2-Afe g (B) 1-a%ﬁﬂam'a‘ﬁ%=r
¢ 1@ (D) FHIIET

CH,
The I[UPAC name of CHS—-(IJH— CH,—CHClis

(A)  1-chloro-2-methyl butane
(B) l-chloroisopentane
(C) 1-chloro-3-methyl butane

(D) None of these
C,H,Br +NaOH—C,H;OH +NaBr frafafe #& e R R

wfufsrar & 2
(A)  sFRIERTE fawumeE (B) mﬁla?é'ét foreamam
(C) (A) 3t (B) 3 D) T & % 7

247 A/XI1-5005-34/40 | Page 7 / 32
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15.

16.

[118]_

C,H.Br +NaOH—-C,H.,OH +NaBr is an example of which of the

following types of reaction ?

(A) Electrophilic substitution

(B) Nucleophilic substitution

(C) Both (A) and (B)

(D} None of these

frefefen & # smeierentte s % sms £ 2

(A) H

(B)

(D)

H,PO

4

H,P,O,

Which of the following is the molecular formula of Orthophosphoﬁc

acid ?
(A) H , PO 3
(C) HPO 3

XeF4 &Y AT Eﬁ?ﬁ %

(). FTHTHE

(C) Faeta

The structure of XeF , is

(A) Tetrahedral

(C)  Square planar

(B)

(D)

(B}

(D)

(B)

. (D)

H,PO

3FY4

H P,0;

HATGEThI
w3 P

Octahedral

None of these

24 [ A/ X1I-5005-(34/40) Page 8 / 30




[118]
? frefefaa @ = Ao yarers atfadieo e weiia = *tan @ 2
V. (B) Br

€ Cl (D) F

Which of the following halogens does not exhibit a positive
oxidation state ?

(a) 1 (B) Br
() Cl (D) F
18. ffafea i fram sy s gsd sl 2 ?

(A)-

), H,0 (B) H.S

2
© H,Se . (D) H,Te

Which of the following has the smallest bond angle ?

(A} H,O B) H,S

(C) H 2 Se ‘D] H,Te

2
19, fafefga § fead srgfira soe I G afieas & 2
A Mg B)., Ti**
c v | (D) Fe

Which of the following has maximum number of unpaired

electrons ?
.3
A)  Mg?t (B) Ti*"

c v (D) Fe**

24 /A [X1I-5005-(34/40) Page 9 / 32




- | - 118 -
2? soifem <6l FFferehe STl arqeey 2 { o !
| A +2 - (B) '+3
€ +4 | (D) +6
The maximum oxidation state of chromium is
W +2 B 43
€ +4 (D) +6
21, Cu2+(-Z= 29 ) AT | éqgﬁimgaqﬁqﬁm%
A) O B) 1
(C)/ 2 D) 3
The number of unpaired electrons in Cu®*ion ( z = 29 ) is
@A) o ® 1
€ 2 D) 3 | "
22,  gAGUEEN faewm . % TUH B §|
A) IS (B) A
C) s (D) TR Figo
Isotonic solutions have the same
(A) Density (B) Normality
(C}  Strength (D) Molar concentration
23. HCIWwE H,0 % g faso o @ &
(A)  48% HCI (B) 36% HCI
€ 22.29 HCl (D), 20-2% HCI
—_—

24 / A/ X11-5005-(34/40) Page 10 / 32




24,

25.

26,

118
An azcotropic mixture of HCl and H, O has l ' |
(A) 48% HCI (B) 36% HCI
(C) 22-2% HCI (D) 20-:2% HCI
96500 T H faga M cuso ¥ Fe & o e @
l(A) 63-5 T qism (B) 31-76 W dial
(C) 96500 W dfan (D) 100 U1 qifel
A charge of 96500 coulomb liberates .............. from the solution
of CuSO,,. | |
(A) 63:S gm copper (B) 31-76 gm coppcz;
(C) 96500 gm (;oppéf (D) 100 gm copper
e da H AU B
S B 1
c 1.A (D) %-

The cell constant of a conductivity cell is

B 4

(A) :

L
A

R
c I.A D) =

¥ Zn | ZnSO, || CuSO, | Cu #I faFa e @t 1-1 9eC ) THET
FATE B
(A)  Zn (B) Cu

(C) znSO, (D) CusO,’

24 /A /XI1-5005-(34/40) | . Page 11 / 32




27.

28.

[1181

Cu;
The electromotive force of the cell Zn | ZnSO, || CuSOy I Cuig

11 volt. Its cathode is

® zn B Cu

(©) Znso, (D) cuso,
SR 1 frgia fees R 2

(A) ¥ B) méfeaE

€) waws (D) T

Who gave the theory of ionisation ? |

(A)  Faraday | (B) Arrhenius
[cj Ostwald (D) Rutherford
ot el i e o Pk e 2

(A) IO g&EEH W (B) . WWW.
(C).. 3] g W (D) =i amE W

The rate of reaction of a substance depends upon

(A)  Atomic mass (B) Equivalent mass

(C)  Molecular mass (D)  Active mass

29.  trfafed # fre fere tomee 1 e S 1B S g d 2 o

(A)  (CH,),CHX (B) CH,CH,X

(©)  CH,CH,CH,X (D)  (CH,),CX

24 / A/ X11-5005-(34/40)
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30,

31.

3z

[118]

which of the following alkyl halides is hydrolysed by 8Sy1

mechanism ?

(A)

(C)

(CH,),CHX () CH,CHX

CH,CH,CH,_X (D) (CH,),CX

e 9 3t 9a % grr e @ T T 8

A)  Eftfeet B) el

€ @A | D) #E
Chloroform on reduction with Zn and water’lgivcls
(A)  Acetylene (B) Ethylene

(C) Ethane = . | (D) Methane

wqﬁamﬁaﬁmwﬁwmﬂmm% @

CEGI
(A)

(C)

(A)

(C)

SRR F; (B) T
T D) WA
When ethyl bromide is treated with dry silver dxidc, then wé get
Diethyl ether (B) -+ Ethanal
Ethane (D) Ethene
o 3

qHH
(A)

()

34T CaCl, W@ ®iZ HCl (B} 31K ZnCl, W ®ig HCl

3T AICI, W Wig HCl (D) 3R PACl,Td &% HCl

24 /A [/ XII-5005-(34/40)
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33.

34.

[118)

Lucas rcagent is

(A) Anhydrous Cauf.ll2 and conc. HCl
(B)  Anhydrous ZnCl, and conc. HCI
(C) Anhydrous AICI ;and conc, HCI

(D] Anhydrous PdCl, and conc. HCl

S-2-31TA ? T
(A) sl TeRrET (B) d*vel Temigial
/LG*)/_ Tt weniaier (D) eEEERF e -
Butan-2-olis a-
(A) Primary alcohol (B) Secondary alcohol
(C)  Tertiary alcohol (D) Dihydric alcohol
Frferiaa & ¥ #17 <Riad o 2 2 |
. .G
(A) CH,CH,OH () CHy—C—OH
CHCHj
CH,0H T
(C) CH,OH (D) CHS—(F— CH,OH
CH,CHj,

-~ Which of the following is a tertiary alcohol ?

(A} CH,CH,OH () CH;~C—OH
CH,CH,

© [2oH D) CH -'?IE?H
ClLOH (D) s~ CHOH
CH,CH,

24 /A /XII-5005-(34/40)
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395.

36.

- 37.

Cll;

Ci,—CH=CH,OH #T IUPACTH &

Q/”Z-ﬂﬁm- 1 -Sirer (B) oTEER TR

© 2-fet-1-spAT (D) ¥ & % TE

H

The IUPAC name of CH,—CH=CH,0H is

(A)  2-methyl-1-propanal (B) Isobutyi alcohol

(C)  2-methyl-1-butanal (D) None of these

[118]

Wit o FoafiRas & fred g wdiese wse & @ 2 2

(B) PCl,

(D) 012'

With which of the following does acetic acid not form acetyl

(A) PCIg
(C) SOCl,
chloride ?

(A)  PCIg

(C) SOCl,
Yeeraree e &
() In<AtE
(C) IwayuHl

Acetamide is
(A) Acidic

(C) Amphoteric

(B) PCl,

D) Cl,

(B) &=

(D) IgEF -
(B) Alkaline
(D) Neutral

24 /A [ XI1I-5005-(34/40)
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38.

39.

40.

[ 118
CHy
CHy— (F NH, 2 T
Ctiy
(A),  SrEEd Ui (B) ¥push I
(C) R e (D) = T,
G
CH;—C—NH, is a
f
CH,
(A) Primary amine (B) Secondary amine
{C) Tertiary amine (D)

Quaternary salt
ﬁﬁiﬂﬁﬁ??ﬁﬁ%ﬁﬁmﬁaﬁtmﬁﬂa KOH%mnﬁaﬂ%mW%

(A) CH. OH - (B} CH,CN
(C) CH,CHO (D) CH,NC

Methylamine on heating with chloroform and alcoholic KOH gives

(A) CH,OH  ® CcH,CN

(C) CH,CHO | (D) CH,NC
Freferfian 3 wodt waifers et 2

) CQHNH, (B) (C,H,),NH
(C) C,H.NH, D) (C,H.),NH

Which of the following is the most basic ‘9
(A)  C.H.NH, . (B)  (C.HJ),NH

(©) C,HNH, (D)  (C,H,),NH

24/AjX]I 9005-(24/40
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42.

(C) TS W 1 e (D) TR 99

The. helical structure of profein is stabilized by which of the
following ? '

(A)  Ionic bond . (B) Covalent bond

(C} van.der Waals forces (D) Hydrogen bond

Prafefen &+ Heeds 2 -
af wmm B wwE
© wEE D) wd

Which of the following is a ketohexose ?

. (A) Glucose ‘ (B}  Fructose

(C} Sucrose (D) Starch

| et F = om R A o 2 o

+
(A} CH,COOCH, +H,0 —"— CH,COOH + CH,OH
(B) CH,COOC,Hg + NaOH — CH;COONa + C,H,OH
€ 2H,0, »2H,0+0,

(D) 2N,0, —»4NO, + O,

[24/A/XI 5205 aran Page 17 / 32




m | [118]

Which of the ﬁ:jllowing is not a first order reaction ?

51 * CH ,OH
(A} CH;COOCH, +H,0 —H CH,COOH + CH;
(B)  CH,COOC,H + NaOH — CH,COONa + C,H5OH"
(€} 2H,0, - 2H,0+0,
(D) 2N,05—4NO, + 0, -

44, Tt Tt R A fafioan 3 3 e 61 g 2

(A) weeh! ! (B)y aa! &l |
€ =& R .(D}- e ot 4!

The unit of rate constant of a second order reaction is
(A)  mol L~ sec! - (B) mol'L sec™!
(C) mol 'L sec™? (D) mol L sec”?

45. Rl sl w1 A w9k m (B2 4 @ i 6
W 2 .

) 1
@A) 2 B 3

@ 3 D)/ 1

If the rate equation for a reaction is S =k[H]""?[B]"/2, the order

dt B
of reaction is
1
(A) 2 B) 3
c 3
) 5 (D) 1
T Page 18 / 32
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47 .

48,

(118 ]

D)X=

According to Freundlich adsorption isetherm

(A) r—i—zkp”” (B) %:k plin

(@  xm=kp/m D)X= pf}n

qu 8

(AL I d qiafg qar (B) =@r & witafya s
€ IARARmS - (D) = wRERE TE
Milk is |

(A)  fat dispersed in water (B) water dispersed in fat

(C) water dispersed in 0il (D) fat dispersed in fat

frafafea 7 o arifsRe Hidls § 2

Aa) ¥ B ™
(C) WIE (D) J|
Which of the following is a lyophilic colloid ?
(A)  Milk - (B) Gum
(C) Fog (D)  Blood

24 /A [ XI1-5005-(34/40) Page 19 / 32
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50.

S1.

—p—————

- [ 118]
R v p——— S L
B R ? |

B Al,0, (B) Fe+ Mo

Which of the following catalysts is used in the manufacture of
ammonia by Haber's process ?

(A) AlLO, | By Fe+ Mo

© cwo o Pt

frerfi <t w1 whfe 2 & g vt o 3, 9% 2
@ Fafma @ fefED

(C)_ faerfim E (D) TRk

A vitamin which plays a vital role in the coagulﬁting property of
blood is '

(A) Vitamin A (B) Vitamin D
(C) Vitamin E (D) Vitamin K
FARHT-T 8 Th |

() TeagTwate B) R

C) T (D) Wrfes
Chloramine-T is a/an

(A) Disinfectant .(B} Antiseptic

(C) Analgesic (D)  Antipyretic

24 /A /XI11-5005-(34/40)
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52.

53,

S54. .

'[ 118

g U 2o B Rt s Preferfes & fras e 2 9
(A) "afan {B]_ TAHEE
(C) T (D) TR

Hydrazine is a drug which is used in the treatment of which of the
following ?

(A) Malaria (B) Typhoid
(C) Cholera (D) Tuberculosis
Pt & 9 o wereTss 2 2
(&) Fedm (B) WA
© w D wdwh
Which of the following is an alkaloid ?
(A)  Nicotine ~ (B) Atropine
" (C) Cocaine (D) All of these
Prtferf & i spfs TR d 2 |
() @R - (B)  TERTE
() i (D) dFewmee
Which of the following is a nétural rubber ? |
(A) Isoprene (B Nitrocellulose

{C) Polyethylene (D) Bakelite

24 /A /X11-5005-34/40) Page 21 /32
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57.

e —

e e Ter S A = # v e € R S

(a) . e (B) - SASTE

(C) E%ﬁ%w : (D) s

A r.aw material used _in mak;ng nylon is |

(A} ethylene : " (B') butadiené
€ adipic acid A 1) isopréne'

F,C =-<:1?2 Frefafaa & frae rh:ﬁnt% ?

(A) THIH (B) TRLH
(C) AFAH-6 | (D) m_m—qa

F,C=CF, is a monomer of which of the follbwing ?

(A) Teflon (B) - Glyptal

(C) Nylon-6. | (D) . Buna-S

£ frafefiga # fog yer @ 8 2

(A) I T (B). UEEAIH

()  3fuaes @l (D) oIS W&

Which of the following types of crystal is diamond ?
(A)  lonic crystal (B) Covalent crystal
(C})  Molecular crystal (D)  Metallic crystal

. _
/¥

[ 247A7X11-5005-34740) Page 22
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58. NaCl T & sy g.
(A) Wﬁﬁﬂﬂa SCA o2 (B) WAF #@H.Hﬁ'ﬁ?ﬂ
(©) = wHaey (D) iz HEE TR
The structure of Na(] crystal is
(A]  Hexagonal close packing
(B) | Face ::e'ntred cubic
(C}  Square planar
‘{D) Body centred cubic
59. reffed § S wER G o
W & m
(C) HTURT 4% D) ==
Which of the following is an amurphou.s slolid ?
(A) " Diamond (B) Graphite
(C) Common salt | (D) Glass
60. ITTHerH ik fohad wiiel & Rl 2t € 2
A) 6 . B 4
{91/ 8 (D) 12
An octahedral void is surrounded by how many spheres ?
@) 6 B
© 8 | (D) 12

|g4/A/XII—5005-:34f401 Pa_g-;% / 32
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[118].
D

61. Mﬁm#wﬁmmmm-mmwmm?ﬁ

TR ? | |
w wWeam (B) . ke
© wwem (D) e

Which of the following modes o.f expressing concentration of a

solution does not depend uﬁ:on temperature ?
s

(A) Molarity (B) Normality
(C) Formality (D]- Molality

62. frafefan § $1 ez Frem ¥ vors faem oot 2 2
(A} C,H, ¥NC_H.CH, ®) C4H, T CCl,
(C) CHCl, ®™1C,H,OH (D) = CHCl, 9T CH,COCH,
Which of the following show po;sitivc deviatibn from Raoult's law ?
(A} C,H, andC ,H,CH, (B) C.H, andCCl4'
(C) CHCl, and C,HSOH (D) CHCl; and CH;COCH,

53, freft faerma % qomoh e w Pkt § 3 v wfew $ o s

frm smar @ 2

_CR _
(A)  m= 7 (B) o RT
; CT _RT
€)== D) m="5%

24 /A [ X1[-5005-(34/40)  Page 24 / 32




64.

65.

[118]
The osmotic pressure of a solution is represented by which of the

following equations ?

) n=CR .
T B), Z=RT
© =% o). =KL

iR ﬁmm&%ﬁmammwma?
(A) I Ag,0 (B) a;n—sE Ag,O

(C) &k ZnO ' (D) 3Tr§¥x Zno |

Alkyl halides form ethers by reacting with which of the following ?

(A} DryAg,0 (B) Moist Ag, 0
(C} Dry ZpO (D) Moist ZnO
OH

CH3—(|3H— CH,—CHO %1 IUPAC TH H

(A) > ETEERTRAT (B) Sg@wﬁa@ma

€) 2 gEgERIEAS D) T A 1 T
' OH

| .
The JUPAC name of CH;—CH—CH,—CHO is

(A) 2-Hydr0xybutan3~1 (B) 3-Hydroxybutanal

(D) None of these

(C) 2-Hydr0xypropanal
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66.

| [ 118
@A) i s

(B) WRUEH w1 -
(C)  40% ¥ ¥ el B
(D) Wum%gagﬁ :

Formalin is the commercial name of

(A}  Formic acid

(B)  Fluoroform

(C) 40% agqueous solution of methanal | "

(D) Paraformaldehyde

67. wqﬁr‘é‘m@% IfFeieRtor & ITH BT 8

68.

(A) TUH TehEA (B) W HEW
©Y TH W - (D) T I

An aldehyde on oxidation gives

(A) an alcohol Bl & ketone

(C) an ether D)  anacid

accr o & o T 7 e e 2

w wREEd (B weRwmd

() uHidAH D) defease 3
IE%’A/x:Iasoos-mm, —_— L
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69.

70.

Chlorctone is formed when chloroform reacts with [ 1_1?’1 .
(A)  Formaldehyde’ | [-B] Acetaldehyde

(C) Acetone (D) Benzéldéhyde

HqH AT RIS A T AT |

)  CHy 0 B) CH,O0

© CrHzn0s - | (D) C,Hyn 102

The general molecular formula of saturated monocarboxylic

“acids is

A) CH, .0 | B) ~ CH, O

() CRH%O; S (D) C;;Hgmlég'
O N e
HHAT E ? | | |
(A) éﬁ%ﬂifﬁﬂ | | }V. Fefem are

(C) 39 1 AIHHS (D) EfETH AFHFEME

By which of the following fdrmic acid and formaldehyde can be

distinguished ?
(A) Benedict solution (B) Fehling solution

(C) . Tollen's reagent (D) Sodium bicarbonate
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@Ug - ¥ / SECTION - B

AY FRIT AT / Short Answer Type Questions
YT WG 1#20?{33?”?:;?;&73 10 Wt & g & | 9RF F

2 F fraffia & ; 10x2=20
Question Nos. 1 to 20 are Short Answer Type. Answer aﬁy 10 questions.
Each question carries 2 marks : 10x2=20
1. UgE e g 2 | 2

Which is Rosenmund reduction ?

2. UeieEs s f5g woR 9T £ 2 2

How 1s polypeptide bond formed ?
3. ' F,,Cl,,Br, W1, H e TUaT % ¥gd F7 4 o) 2
Arrange F,, Cl,, Br, and [, in the increasing order of electron

affinities.

4,  Kr(Z=236)Td Xe (Z =54 )% g fa=m fad) L+ 1

Write the electronic coﬁﬁgurations of Kr (Z =36) and Xe (Z=54).
5. DNA fmfifen it swifar 1 v Hi

2
Discuss the utility of DNA ﬁngerpr_inting-
6. frfafiga % Th-T% IqE < ; )
() wvfia Sg (i) HE o)
- —ﬁ"——._,___“—
[ 24 /A [ XI1-5005-(34/40) Y YED




10.

11.

12.

13.

14.

[118]

Give one example of each of the following :

(i)  Synthetic polymer " (i) Condensation polymer.
?ﬁ%%ammﬁ%mcérﬁ%ﬁl - - C1+1
Write the names and formulae of two ores of iron.
mﬁmm%ﬁmﬁWWWWﬁﬁmm% ? 2
Why is cryolite ore used during the extraction of Al metal 7
Yo 3 Frd A 3 2 T AR Al - 2
What are nétwork solids ? Give an example.

i g foFl FEd 8 ? FerRW ¥ TY A H . 2

What is Schottky defect ? Explain with example.

el TS 1 8 ? 2

What is mole fraction ?

wm%ﬁﬁm%ﬁﬁuﬁmmﬁwﬁét 2
Write Raoult's law of relative lowering of vapou.r, pfessure.
Fﬁ%ﬁéﬂmﬁ%éﬁuﬁﬁgﬁ—nwﬁmﬁf@amﬁ@ﬁl 2
Discuss electrochemical principle regarding rusting of iron.

Yo ATeihed WX AT BT RN N USaT R P | | )

What is the effect of dilution on molar conductance ?

-
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15.

16,

17.

18.

19.

20.

[118]

) i 5 2
%Wﬁnﬂmﬁmmﬁﬁ@”ww%?

. tion and
cal adsorp
What are the main differences between physt :

chemical adsorption ?

mﬁw%?'

What is Brownian movement ?
2
Fiisa Wi sAffem = R 2 _. . |

What is carbyl amine reaction ?

frafafaa @ft &% upac am ford :

CH OH

s ) e on
(i) CH3_(]-:_.CHQOH (ii) CH3—(EH CH;—-CH;

CH,

Write the IUPAC names of the following compounds :

(i) CH3-JEH CHOH (i) CHy~CH-CH,-CH,-OH
CH3 . '

Sl o Sed dires 1 i =i e § 2

Why do transition elements form cpmplex Compounds 5

WWW(EAN}E'% Lol q’i‘

Explain effective atomic number.

XII-5005-34/40) -
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e 3909 W99 / Long Answer ije Questions
| W?W'Tﬂ?m#zsa?g‘aaﬁam? If?m?émﬂf%'m# | g% F forg
S%ﬁfﬁﬁa‘g.: ) l 3)(5:15

Question Nos. 21 to 26 are Long Answer Type Questions. Answer any
3 questions. Each question carries 5 marks : - 3x5=15

21. a&[ﬁ;m%aqﬂwwmﬁ%? aﬁﬁmaﬂm-mm?ﬁmﬁﬁt
AT 8 P G Hi 1243

‘What do you understand by rate of a reaction ? What factors affedt_ :

the rate of a reaction ? Discuss.

22-. g F R 2 FHST WS FO 78 P TR HE @2 2+3
What is soap ? How does-it act in the cleansing of _cl-otl_nes ?

23. _%atﬁﬁr@mhﬁmﬁwhmﬁamﬁa@agmmqﬁaﬁmlm
HffsRaT & 2 2 349

Write the principle of manufacture of ammonia by Haber's process. -

How does it react with CuSO , solution ?
04, uTERA, Gkt T TR TwwEEl # 39 H fadg w0 2 .' 5

~ How would you distinguish among primary, secondary and t'ertiary

alcohols ?
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sy
5
25. ffafas w5 seeo afa aaaRe '
. | o AR AR
() Uesia gga . - (1)
Explain the following with examples : _
' Co zaro’s reaction.
(i} - Aldol condensation’ (i) Canmizz |
. 5X 1
26. fr=fafes % 1upac m fo - ;
_ EH - | . 1, —~CCOH
(I:1
(iiif C1—CH—COOH - (iv)] CHy—CH=CH—COOH
0
(V) CHS—-({II— CH,—COOH
Write JUPAC names of the following :
OH
() CH;—CH— COOH (ii) ¢He—COOH
CH,—COOH
(lJI |
(i) C1—CH—-COOH (iv)  CH;~CH=CH—cCoopn
O
(v) CHS—é— CH;—COOH
24/!\/}(!1-5005-{34;%’ T —— ' ___...--'é"
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